3]

(am

IBREAMKRIBEO MY Z57 1 (=—1K)

e - 7=

(GERIIS ) —p (FHEE )

Ty + Tz +yz =Ty + T2

S EF Nl

CELPIEF D & Hi I e
iy /) vORETEH
- TR BT
- AR



= mim
o v/ VODOERTEIE

f(mlax% te 'amn—law’n) — f(wlaan te 'awn—laO)T’I’L + f(mlamQa *rry In—1, 1)1371,
C[REB] h
Tn = 0 DIKf

E—:'J_J. — f(xlax%"' 7x'n—la0) '6‘|‘f($1,$2,"' 7xn—1a1)'0
— f(xlaw27"' 7wn—170) -1

= il
Lp = 1 O)H%Eé) IE.IT%
o /
BRI R D3 n- 1 228G PR A2 & 2B O imERE CHF I 5

OB LEHTELEE)RBIEAHINP?

£ Kengo Kinoshita
Tohoku University



U T 2 ILEReC ERRTINZER

o UFrZI)l
Tk =
Tp (=) if ex=0  wgvsrsn

o VT ZIIDEBEZEIED S WIRICIREMR
o UTZIDRELZRHWD &

flz1,z2, -, Tn—1,2n) = f(z1,22,"**, Tn—1,0)Tp, + f(z1,22, -, Tn—1,1)Zn
DR LA LC
f(mlamZa"'ax’n—lamn) — Z f(61,62,---,6n)a';§1m§2... €n

(61,62,---,€n)€B"

EETS D GEHIZBEENIRNEIC X 5 (B )




N>z &EZEDEFH

f($17$27"'7$’n—13$’n) - Z f(61,62,"',6n)33§1a7§2"'SE%"

(81)62,"'aen)€Bn

o n=2 DK
f(z1,22) = f(0,0)Z1Z2 + f(0,1)Z122 + f(1,0)z1Z2 + f(1,1)z122

x1 x2 f
o o | o EZDPTHZ E|WTTN?
R XORT¥ 43
1 0 1
1 1 0
i
f(:Bl, :L‘z) = 0-Z179+1- 7122+ 1-2129+0- 2129

T1X9 + T1T2

é: % Kengo Kinoshita
ohoku Universi



PoTHK S EMRYF

e n=3 Dk
f(z1,22,23) = [f(0,0,0)Z1Z273 + [(0,0,1)z1%223 + f(0,1,0)T121T3 +
f(O,l l)f roxrs3 -+ f(l 0 0)3315253 + f(1,0,1)$1f2m3 +
f(]-a 1,0)$1$2$3 + f(]-a ]-a 1)$1£U2$3
x1 x2 x3 f
0 0 0 0 f(z1, 22, x3) = T12223 + 12273 + T12273 + 12223
0 0 1 0
0 1 0 0 )/
(o 1 1 1
(1 o o0 1)
1 0 1 0
(1 1 0 1)
(1 11 1)

g, EHiEZET 1 DNICHID T 2 i/ME%Z +TOR KT
ARIZEL & flenze,2n1,20) = Y, my

i€T'(f)
m = e a8 & RN kIS
T(f) bi f — 1 & 7:.:1: 5Ajjo)'fﬁa)%ﬂ‘@§\)\jj&7 ]‘ }I/ £ Kengo Kinoshita 41

Tohoku University




BIRER DB 2

® n=2 CORDEFZFH
f(z1,22) = f(0,0)Z1Z2 + f(0,1)Z122 + f(1,0)z1Z2 + f(1, 1)z122

xl x2 f
0 0 0
0 1 1
1 0 1 BT + ST
1 1 1
E DT
f(z1,22) = T1x9+ 21T + 2122 OR?

= X1T2 +T1X2 + T1T2 + T1Z2
= z1(z2 + Z2) + x22(x1 + 1)

= X1+ X2



FMERZER

¢ ShannonO ERTEEDOFD/\— 3>

/f(33173327"'733n—1a33n) — (f(mlam%"'amn—lao) ‘l—CUn)(f(.fUl,.fUQ,"',mn_l,].)-l—fn) A
(FEORL#EHLT)

— H (f(617627"'76n)+x§1+mg2+"'+wriﬂ)
(817627'" ’en)eB’n

= [I @ +af++a) -1 wu

(e1,e2,,en)EF(f) i€F(f)
L M, ZRAREHEWS
1) F(f)ldf=0%,t%2 ANIDEDHTEATIRY L ERESR
F) O+x=x1+x=1
xl x2 f
o 0 0 )—> f=xI+x2
0 1 1 \ B . \ \
(% BEEEY “EHASELT, KBV

Lo B % (> C AT % & HIRHEER Y 5 2

1 1 1

£ Kengo Kinoshita
Tohoku University



Yo THKDERS
o n=30DK

x1 x2 x3

S I\

\—/

= = IR (=R I =R =2 B

0 0
0 1
1 0
1 1
0 0
0 1
1 0
1 1

f(z1,29,23) = (x1 + z2 + x3) (21 + T2 + T3) (21 + T2 + 23)(T1 + T2 + T3)

fi), ELBUEHZ TODPII DT 5 ik RIHZ ANDTO % K
EAl & XHE « BEY T 7 VOB 70 KR
FEM 1 —>HE (- x=x)
HItE 10— HBE (0+x=x)




TR & o]l
o 3THEMURBIHM(x,y.2) DREFUEER, £ MIBRER £ BE B L

M(z,y,z)=1if z,y,z D 1 DfE%EDS 2 fH 2L |

o 3RHUN) T« BHEOBIIEREL EBEREERLEZE SR L
P(z,y,z) = 1if z,y,z D 1 DAL DA LR

H R | R RO O QO | o]R
= = | O S |~ = o | O <
— e R O |~ o = | O \}
_ = R ©o = o o o]R
— = = O O | O | OoO]IR
H R | OO R R O O]<
o O M= O = O = oO]n
H O o R o Rk R ol~N



